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QUESTION 1
1.1 | Rational v (1)
1.2 | Irrational v (1)
1.3 | Rational v (1)
[3]
QUESTION 2
21 | /50
D v'answer
=1 (1)
2.2 -1
_xt v'answer
=X (1)
23 9x+ll5x+2
45X+l
B !32)“1.5“2
(32 .5)X+l
32x+2.5x+2 \/ 32x+2
= 32x+2.5x+1 ‘/32X+2 .5X+1
_ 32x+2—(2x+2)'5x+2—(x+1) vanswer
— 51 (3)
[5]
QUESTION 3
3.1 2%x% —14x—60 v’common factor
~2(x—10)(x +3) Y (x-10)
v (x+3)
3)
32 [ 1.,
X+ v'first factor
1 1 1 v'second factor
= Zx+b® | = x> ==b3x+Db° 2)
2 4 2
[5]
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QUESTION 4
4.1 2—-3x=6-4x
4x—-3x=6-2 v'transposing
X=4 v'answer
()
4.2 X X 3x—2
24X 3-x X°—x-6 v change sign X
X x = 3x-2 X—=3
X+2 X-3 (x=3)(x+2) v’common denominator
X(x—3)-x(x+2)=3x-2 (XTZ)()_(_?’) ) )
W% 3 — X2 — 2X=3x_2 j3|mpllfy X —3x—Xx*—2x
_8x=—2 —8x=-2
1 v'answer
=2
()
43 | 3x.9%=g]
3X .34X+2 :34
g =3t v'same bases
SX+2=4 v'equating indices
w2 v answer
5 ©)
4.4 —4<3x-1<5
—4+1<3x<5+1 v'add 1 to both sides
—-3<3x<6 v/ +3:0n both sides
+3: —1<x<2 v'answer
©)

[13]
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QUESTION 5
Pattern 1
Pattern 2
w3 Parem S
000000000

51 | T,=7n+3 v'7n
V'3
(2)

52 T,=2n v'2n
1)

531 | T,=2(12) vanswer

—24 (1)

532 | T =7n+3

v =150
150=7n+3
’1 v'n=21
n =
(2)
[6]
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QUESTION 6

D(3; 4)

6.1 | y=ax? (3:4)
4=a3° S
" Sa3 v'substitution (3; 4)
4 va=2
a=§ 9
4 ,
y=3 2)
62 Y=§x+2 and y=—x*
4., 2 .
§X =—-X+2 v'equating
. 2 _
x9: 4x = 6x+18 v'simplification
+2: 2X°—=3x-9=0
(2x+3)(x—3)=0
x<0: X ——E
. cT v'correct X co-ordinate
2( 3
Ye=3|73 +2 v'substitute
= —11+2 v’y co-ordinate

()
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6.3 X -intercept: y=0
0=§x+2
x3: 0=2X+6 vsub y=0
2X=-6
+2: X=-3
vanswer (+)
WO = 3 units @
64 | T(4;3) v answer
1)
[10]
QUESTION 7
y=3.2x +1
by v’ asymptote
v'shape
v’y -intercept
(1; 7

.
<

-6

Point of intersection (1;7)

<V

y:§+1
X

v'shape
v X -intercept
v'any other coordinate

v'v answer (1; 7)
(8)

[8]

TOTAL: 50




